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1) The 5 archery team members fired a total of 70 arrows in their Olympic competition. How many did each team member fire? 
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2)  The four runners  in the Australian Olympic relay team have brought a total of 48 plasters with them in case they get a blister. How many do they have each? 
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3) The Olympic torch has been burning for 95 days and has visited 5 different areas of the country. How many days did it spend in each area?  
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4) Four members of the British cycling team were given a box of energy bars by a well known biscuit manufacturer.  How many did each member get if there were 72 bars in the box? 
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5) The equestrian teams from Germany, Holland and France have a total of 42 horses competing in the Olympics.  They each have the same number of horses entering each equestrian event.  How many horses from each country will be entering the  Olympics? 
Triangles


1) The 3 archery team members fired a total of 57 arrows in their Olympic competition. How many did each team member fire? 


2)  The four runners  in the Australian Olympic relay team have brought a total of 76 plasters with them in case they get a blister. How many do they have each? 

3) The Olympic torch has been burning for 95 days and has visited 5 different areas of the country. How many days did it spend in each area?  


4) Three members of the British cycling team were given a box of energy bars by a well known biscuit manufacturer.  How many did each member get if there were 42 bars in the box? 


5) The equestrian teams from Germany, Denmark, Holland and France have a total of 72 horses competing in the Olympics.  They each have the same number of horses entering each equestrian event.  How many horses from each country will be entering the  Olympics? 
Squares


1) The 3 archery team members fired a total of 57 arrows in their Olympic competition. How many did each team member fire? 


2)  The four runners  in the Australian Olympic relay team have brought a total of 76 plasters with them in case they get a blister. How many do they have each? 

3) The Olympic torch has been burning for 102 days and has visited 6 different areas of the country. How many days did it spend in each area?  


4) Eight members of the British cycling team were given a box of energy bars by a well known biscuit manufacturer.  How many did each member get if there were 120 bars in the box? 


5) The eight equestrian teams from Europe have a total of 96 horses competing in the Olympics.  They each have the same number of horses entering each equestrian event.  How many horses from each country will be entering the Olympics? 
Pentagons


1) The 4 archery team members fired a total of 64 arrows in their Olympic competition. How many did each team member fire? 


2)  The eight runners  in the Australian and New Zealand Olympic relay teams have brought a total of 104 plasters with them in case they get a blister. How many do they have each? 

3) The Olympic torch has been burning for 102 days and has visited 6 different areas of the country. How many days did it spend in each area?  


4) Nine members of the British cycling team were given a box of energy bars by a well known biscuit manufacturer.  How many did each member get if there were 120 bars in the box? 


5) The eight equestrian teams from Europe have a total of 96 horses competing in the Olympics.  They each have the same number of horses entering each equestrian event.  How many horses from each country will be entering the Olympics? 
